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[P HEE X16.0% HH& X 20.0% BHER X 24.0%
s HE | Wi \RER tha @ E | thad T OB | Ehd  # OB
(mm) | (mm) | (mm) [ (N mm) (kgf ~“mm)| (mm) N {kgf} (mm) N {kgf} (mm) N {kgf}
MR 6 X 15 15 | 1470 {150}| 24 3.0 3.6
20 20 | 11.00 {1.12}| 3.2 4.0 4.8
25|60 (36| 25| 882 {090} 40 {3‘23} 5.0 {:‘:‘;} 6.0 lgig}
30 30 | 735 {075}| 438 | 6.0 : 7.2 :
35 35| 630 {064}| 5.6 7.0 8.4
MR 8 X 15 15 | 26.10 {2.66 } 2.4 3.0 3.6
20 20 | 19.63 {2.00} 3.2 4.0 4.8
25 80 | 50 25 | 1570 {1.60}| 4.0 62.8 5.0 78.5 6.0 94.1
30 ' ’ 30 | 13.08 {1.33} 4.8 {6.40} 6.0 {8.00} 7.2 {9.60}
35 35 | 11.21 {1.14}| 56 7.0 8.4
40 40 | 981 {1.00}| 64 8.0 9.6

Kgf = Nx0.101972

E(N) = ([FREEH (N/mm) X 7= 1> (mm)
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S142 RE BEHBE ECES
s (mm) (mm) (mm) (mjm)
MR 6 X 300 6.0 3.6 300 1.70
MR 8 X 300 8.0 5.0 300 2.80
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